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Vertex Form by Completing the Square M‘//Zolo

How can we find the vertex of a quadratic relation
in standard form, y = ax® + bx + c?

1. Factored Form —— Find zeroes
—— Symmetry to find x,

2. Partial Factoring —— sub y-intercept
—— find matching point

—— symmetry to find x,
or,

3. Complete the Square —— Vertex Form
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¥ +ex+ 9 = (x+z)
K
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Recall vertex form: y = a(x - h)? + k

Note that (x - h)? is a perfect square. What is
missing from these perfect squares?

(@) x> +10x + 25 = (x4 )
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X>+6x+3 = ( |
. , % +3 /.
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X? - 4x - 3= ( _2_) —

e

~2 =
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To go from standard form to vertex form, we
force a perfect square into our equation.

2
cy=x+12x-7
(c)y

make a pcl‘-f"cdl‘ S‘T,ugrc
u =G+ rex 430)-36 -7
L

2ero x + b
. W?@c ?f’_ " 6)(1
ASMDRNE 6 1bx| 3¢ |

May 3-7:51 PM

(d)y=x*-20x+ 15 *® --/0’
2

y=(e-lo)-gs % |7*

=/0| ~fox | +150

~(6D +|S
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If the value in front of x? is not 1 (the 'a' term),
we must factor that number out of all x terms.

(e)y =3x*+12x + 11
e/

4=30x %) +1/
U =3(x+Yx MJ—%) + (]

(e+D)"

4= [0 1) 1

4= 3(x42) -2 +(1
Y =3(x42 2|

(fly = -x* +6x +13
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Assigned Work:

p.390#1,2,4,9, 10

Mar 20 - 4:57 PM



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

